SECTION A CONTENTS
TWO PIECE BALL VALVES

DESCRIPTION PAGE
70-100 Series, Threaded Bronze A-1
70-200 Series, Solder Bronze A-2
70-800 Series, M x F Threaded Bronze A-3
71-100 Series, Threaded Bronze with Mounting Pad A-4
71-AR Series, Actuator Ready Threaded Bronze (New Item) A-5
72-100 Series, Threaded High Pressure Carbon Steel A-6
72-900 Series, SAE Straight Thread Carbon Steel A-7
73-100 Series, Threaded Carbon Steel A-8
73A-100 Series, Threaded Forged Carbon Steel (New Item) A-9
76-100 Series, Threaded Stainless Steel with Mounting Pad A-10
76-AR Series, Actuator Ready Threaded Stainless Steel (New Item) A-11
77-100 Series, Threaded Full Port Bronze with Mounting Pad A-12
77-AR Series, Actuator Ready Threaded Full Port Bronze (New Item) A-13
77-200 Series, Solder Bronze, Full Port A-14
77-900 Series, SAE Straight Thread Bronze A-15
89-100 Series, Threaded Carbon Steel with Mounting Pad A-16
89-AR Series, Actuator Ready Threaded Carbon Steel (New Item) A-17

399-100 Series, Threaded Alloy-20 with Mounting Pad A-18



Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

1. Lever and grip

2. Stem packing
3. Stem bearing

4. Ball

5. Seat (2)
6. Retainer

Apotb.70-100 Series

Bronze Ball Valve

Threaded, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

e Chromium plated ball
¢ RPTFE seats and stuffing box ring

STANDARD MATERIAL LIST

Steel, zinc plated w/vinyl
RPTFE

RPTFE

B16, chrome plated
RPTFE

B16(1/4"to 1")
B584-C84400 (1-1/4" to 3")

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland

VARIATIONS AVAILABLE:

70-120 Series
70-140 Series
70-150 Series
70-190 Series

(Adjustable Stop Lever)
316 SS Ball & Stem)

(
(Balancing Stop)
(

Locked Retainer)

:

98 - °F
> @ P76 %
3
N
A i
|
JIUNL =
ol i
© <——B——|&) S

——————————  ————————————

BRONZE BALL VALVE
NUMBER SIZE A B C D E Wt.
70-101-01 1/4" .37 | 1.03 2.06 1.75 3.87 .60
70-102-01 3/8" 37 | 1.03 2.06 1.75 3.87 .56
70-103-01 1/2" S0 | 112 2.25 1.75 3.87 .63
70-104-01 3/4" 68| 1.50 3.00 2.12 4.87 1.39
70-105-01 1" 87| 1.68 3.37 2.25 4.87 1.72
70-106-01 1-1/4" 1.00 | 2.00 4.00 2.62 5.50 3.26
70-107-01 1-1/2" 1.25 | 2.18 4.37 3.06 8.00 461
70-108-01 2" 1.50 | 2.34 4.68 3.25 8.00 6.06
70-109-01A | 2-1/2" 2.00 | 3.12 6.25 3.72 8.00 17.25
70-100-01 3" 2.50 | 3.37 B.75 4.12 8.00 18.60
1/00

7. Gland nut B16
8. Stem Bl16
9. Lever nut Steel, zinc plated
10. Body seal PTFE
(1-1/4" to 3")
11. Body B584-C84400

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" to 3"
-03- 1-1/4" Stem Extension 1/4" to 3"
-04- 2-1/4" Stem Extension 1/4" to 3"
-05- Plain Ball 1/4"t0 3"
-07- Tee Handle 1/4" to 2"
-08- 90° Reversed Stem 1/4" to 3"
-10- SS Lever & Nut 1/4" to 3"
-14- Vented Ball (see page J-2) 1/4" to 3"
-15- Round Handle 1/4" to 2"
-16- Vertical Chain Lever 3/4" 0 2"
-17- Rough Chrome Plating 1/4" to 3"
21- UHMWPE Seats (Non-PTFE) 1/4"t0 3"
-24- Graphite Stem Packing 1/4" to 3"
-27- Latch Lock Lever 1/4" to 3"
-30- CamLock Handle 1/4" to 2"
-32- SS Tee Handle & Nut 1/4" to 2"
-35- PTFE Trim 1/4"t0 3"
-39- SS Latch Lock Wheel Handle 1/4" to 2"
-40- Cyl-Loc 1/4" to 2"
-41- Auto Drain (See page J-8) 1/4" to 2"
-45- Less Lever & Nut 1/4" to 3"
-46- Latch Lock Lever - Lock Close Only 1/4" to 3"
-47- SS Latch-Lock Oval Handle 1/4"to 1"
-48- SS Oval Handle 1/4" to 2"
-49- Assembled Dry 1/4" to 3"
-50- 2-1/4" Locking Stem Extension 1/4" to 3"
-56- Multifill Seats 1/4"t0 3"
-57- Cleaned for Gaseous Oxygen 1/4" to 3"
-58- Horizontal Chain Lever 3/4" to 2"
-60- Static Grounded Ball & Stem 1/4" to 3"
-63- Threaded x Solder 3/8"t0 3"
-64- 250 Lb. Steam Trim 1/4" to 3"
-P0O1- BSPP (Parallel) Thread Connection 1/4"to0 3"
-T01- BSPT (Tapered) Thread Connection 1/4" to 3"

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. A.- ].



Apollo.70-200 Series

Solder End Bronze Ball Valve

Solder End, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

e Chromium plated ball ¢ Blow-out-proof stem design
¢ RPTFE seats and stuffing box ring ¢ Adjustable packing gland
STANDARD MATERIAL LIST
1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut B16
2. Stem packing RPTFE 8. Stem B16
3. Stem bearing RPTFE 9. Lever nut Steel, zinc plated
4. Ball B16, chrome plated 10. Body sedal PTFE
5. Seat (2) RPTFE (1-1/4" to0 3")
6. Retainer B16 (3/8" to 1") 11. Body B584-C84400

B584-C84400 (1-1/4" to 3")

VARIATIONS AVAILABLE: OPTIONS AVAILABLE:

70-220 Series (Adjustable Stop Lever) (SUFFIX) OPTION SIZES
70-240 Series (316 SS Ball & Stem) -02- Static Grounded 3/8"t0 3"
70_250 Series (Balancing Stop) -03- 1-1/4" Stem Extension 3/8"t0 3"
-04- 2-1/4" Stem Extension 3/8"t0 3"
-05- Plain Ball 3/8"t0 3"
. E— -07- Tee Handle 3/8"to 2"
-08- 90° Reversed Stem 3/8"to0 3"
8 -10- SS Lever & Nut 3/8"t0 3"
B -14- Vented Ball (see page J-2) 3/8"t0 3"
S -15- Round Handle 3/8"to 2"
6 7 1 -16- Vertical Chain Lever 3/4"to 2"
3 -24- Graphite Stem Packing 3/8"t0 3"
> -27- Latch Lock Lever 3/8"t0 3"
D -32- SS Tee Handle & Nut 3/8"to 2"
-35- PTFE Trim 3/8"t0 3"
-39- SS Latch Lock Wheel Handle 3/8"to 2"
* -45- Less Lever & Nut 3/8"to0 3"
A -46- Latch Lock Lever - Lock Close Only 3/8"t0 3"
F A b — -47- SS Latch-Lock Oval Handle 3/8"to 1"
‘ ‘ -48- SS Oval Handle 3/8"to 2"
' -49- Assembled Dry 3/8"t0 3"
7— -50- 2-1/4" Locking Stem Extension 3/8"to0 3"
AN -56- Multifill Seats 3/8"to0 3"
5 -57- Cleaned for Gaseous Oxygen 3/8"t0 3"
=G = @ -58- Horizontal Chain Lever 3/4"to 2"
B -60- Static Grounded Ball & Stem 3/8"t0 3"
-63- Threaded x Solder 3/8"t0 3"
C

The 70-200 is designed to be soft soldered into lines without
disassembly. This allows a tested valve to be installed without
disturbing the seats and seals in any way. Soldering temperature
BRONZE BALL VALVE not to exceed S00°F.
NUMBER | SIZE A B C D E F G Wit.

70-202-01 3/8"| 37|128 |25 [175 387 | .50§ 37| .63

70-203-01 | 1/2"| 50| 143 [ 287 [175 [387 | 63] 50| 71 -
7020401 | 3/4"| 68193 | 387 |212 | 487 | s8] 75| 144 For Pressure/Temperature Ratings,
70-205-01 1"| 87225 [ 450 [225 [487 | 1.13] .90 1.91 Refer to Page N-10, Graph No. 4

70-206-01 | 1-1/4"| 1.00 [ 2.31 | 4.62 | 2.62 [5.50 | 1.380 .96| 2.95
70-207-01 | 1-1/2"| 125|262 | 525 |3.06 | 8.00 | 1.630 1.09| 3.99

70-208-01 2"| 150|318 | 637 [325 800 | 2.13] 1.34| 571
70-209-01A | 2-1/2"| 2.00 | 3.74 | 7.51 | 3.72 | 8.00 | 2.63] 1.48| 15.53
70-200-01 3" | 2.50 | 4.12 | 8.25 | 4.12 | 8.00 | 3.130 1.67| 16.74

A_Z COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Apolls.70-800 Series

Male x Female Bronze Ball Valve

Male x Female Threaded, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

e Chromium plated ball ¢ Blow-out-proof stem design
¢ RPTFE seats and stuffing box ring ¢ Adjustable packing gland
® Male x Female threaded end connections

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut B16
2. Stem packing RPTFE 8. Stem Bl16
3. Stem bearing RPTFE 9. Lever nut Steel, zinc plated
4. Ball B16, chrome plated 10. Body sedal PTFE
5. Seat (2) RPTFE (1-1/4" to 1-1/2")
6. Retainer B16 11. Body B584-C84400
70-820 Series (Adjustable Stop Lever) (SUFFIX) OPTION SIZES
70-840 Series (316 SS Ball & Stem) -02- Static Grounded 1/4" to 1-1/2"
70_850 Series (BalanCIrlg Stop ) -08- 1-1/4" Stem Extension 1/4" to 1-1/2"
-04- 2-1/4" Stem Extension 1/4" to 1-1/2"
-05- Plain Ball 1/4"to 1-1/2"
-07- Tee Handle 1/4" to 1-1/2"
-08- 90° Reversed Stem 1/4" to 1-1/2"
-10- SS Lever & Nut 1/4" to 1-1/2"
-14- Vented Ball (see page ]-2) 1/4" to 1-1/2"
-15- Round Handle 1/4" to 1-1/2"
-16- Vertical Chain Lever 3/4"to 1-1/2"
-21- UHMWPE Seats (Non-PTFE) 1/4"to 1-1/2"
5 -24- Graphite Stem Packing 1/4" to 1-1/2"
D -27- Latch Lock Lever 1/4" to 1-1/2"
-30- CamLock Handle 1/4" to 1-1/2"
-32- SS Tee Handle & Nut 1/4" to 1-1/2"
i -35- PTFE Trim 1/4"to 1-1/2"
-39- SS Latch Lock Wheel Handle 1/4" to 1-1/2"
-40- Cyl-Loc 1/4"to 1-1/2"
A + ! -41- Auto Drain (see page ]-8) 1/4" to 1-1/2"
-45- Less Lever & Nut 1/4" to 1-1/2"
+ -46- Latch Lock Lever - Lock Close Only 1/4" to 1-1/2"
-47- SS Latch-Lock Oval Handle 1/4"to 1"
1 -48- SS Oval Handle 1/4"to 1-1/2"
-49- Assembled Dry 1/4" to 1-1/2"
-50- 2-1/4" Locking Stem Extension 1/4" to 1-1/2"
-56- Multifill Seats 1/4"to 1-1/2"
-57- Cleaned for Gaseous Oxygen 1/4" to 1-1/2"
—— B ——— -58- Horizontal Chain Lever 3/4"to 1-1/2"
-60- Static Grounded Ball & Stem 1/4" to 1-1/2"
C —_———- -64- 250 Lb. Steam Trim 1/4" to 1-1/2"

MALE X FEMALE BRONZE BALL VALVE

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

NUMBER SIZE A B C D E Wit.
70-801-01 1/4" .37 | 1.40 2.43 1.75 3.87 .63
70-802-01 3/8" 37 | 1.46 2.50 1.75 3.87 .60
70-803-01 1/2" .50 | 1.68 2.81 1.81 3.87 72
70-804-01 3/4" .68 | 2.00 3.50 2.12 4.87 1.42
70-805-01 1" 87 | 2.31 4.00 2.25 4.87 1.93
70-806-01 1-1/4" 1.00 | 2.31 4.31 2.62 5.50 3.19
70-807-01 1-1/2" 1.25 | 3.00 5.18 3.06 8.00 4.60
1/00

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

A-3



e Chromium plated ball
¢ RPTFE seats and stuffing box ring

Apollo.71-100 Series

Bronze Ball Valve With Mounting Pad

Threaded, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland

® Mounting pad for easy actuator mounting

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 9. Lever nut Steel, zinc plated
2. Stem packing RPTFE 10. Body seal PTFE
3. Stem bearing RPTFE (1-1/4" t0 3")
4. Ball B16, chrome plated 11. Body B584-C84400
5. Seat (2) RPTFE
6. Retainer B16 (3/4" to 1) VARIATIONS AVAILABLE:
" "
7 Gland 5?24_084400 (1-1/4"t0 3") 71-120 Series (Adjustable Stop Lever)
8 son nut Ble 71-140 Series (316 SS Ball & Sten)
- otem 71-150 Series (Balancing Stop)
— 71-190 Series (Locked Retainer)
[~ G —
H OPTIONS AVAILABLE:
1 E H (SUFFIX)  OPTION SIZES
F 1S >J -02- Static Grounded 3/4"to0 3"
I L -03- 1-1/4" Stem Extension 3/4"t0 3"
-04- 2-1/4" Stem Extension 3/4" 0 3"
-05- Plain Ball 3/4"t0 3"
L1 -07- Tee Handle 3/4"t0 2"
3/4"-p" g E -08- 90° Reversed Stem 3/4"t0 3"
Size J -10- SS Lever & Nut 3/4"t0 3"
{ ) -14- Vented Ball (see page ]-2) 3/4" 0 3"
10 @ i‘] 7 -15- Round Handle 3/4"t0 2"
1 -16- Vertical Chain Lever 3/4" 0 2"
3 -21- UHMWPE Seats (Non-PTFE) 3/4" 0 3"
6 D -24- Graphite Stem Packing 3/4"t0 3"
-27- Latch Lock Lever 3/4" 10 3"
-30- CamLock Handle 3/4" 0 2"
-32- SS Tee Handle & Nut 3/4"t0 2"
-35- PTFE Trim 3/4" 0 3"
A + -39- SS Latch Lock Wheel Handle 3/4"t0 2"
-40- Cyl-Loc 3/4" 0 2"
-41- Auto Drain (see page ]-8) 3/4" 0 2"
-45- Less Lever & Nut 3/4"t0 3"
1 X -46- Latch Lock Lever - Lock Close Only 3/4" 0 3"
-47- SS Latch-Lock Oval Handle 3/4"t0 1"
-48- SS Oval Handle 3/4"t0 2"
B -49- Assembled Dry 3/4"t0 3"
-50- 2-1/4" Locking Stem Extension 3/4"t0 3"
c 1 -56- Multifill Seats 3/4" t0 3"
-57- Cleaned for Gaseous Oxygen 3/4" 0 3"
-58- Horizontal Chain Lever 3/4" 10 2"
-60- Static Grounded Ball & Stem 3/4"t0 3"
-64- 250 Lb. Steam Trim 3/4" 0 3"
BRONZE BALL VALVE WITH MOUNTING PAD -PO1- BSPP (Parallel) Thread Connection 3/4"t0 3"
NUMBER |SIZE| A B C D E F G H Wt. | -TO01- BSPT (Tapered) Thread Connection 3/4"t0 3"
71-104-01 | 3/4"| 68| 1.50 | 3.00 | 2.12 | 4.87 | .87 | 1.37 | 10-24NC | 1.63
71-105-01 1" .87 11.68 | 337 | 225 | 487 | .87 | 1.37 | 10-24NC | 1.86
71-106-01 |1-1/4"| 1.00 | 2.00 | 4.00 | 2.62 | 5.50 | .93 | 1.50 | 1/4-20NC | 3.39
Sosorl o isolsot [ ess oo o[ s 1o veomc | ems| | T Fressure/Temperature Ratings,
71-100-01 3"| 2.50 [ 3.37 | 6.75 | 4.12 | 8.00 [N/A | 2.75 | 1/4-20 NC | 18.60 Refer to Page N-10. Gl'Ctph No. 4

*See 77-140 Series Full Port for 1/4", 3/8", 1/2" and 2-1/2" Sizes

A-4

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 71-ARX Series

Bronze Std. Port Ball Valve with

Threaded, 600 psig WOG, Cold Non-Shock, 250 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

1. Stem packing
2. Stem bearing

3. Ball
4. Seat (2)

5. Retainer

5 u,',',',wn' |

MPTFE
RPTTE
316 S8
MPTFE

B16(3/4"to 1")
B584-C84400 (1-1/4" to 3")

e Multi-piece packing set
¢ [SO 5211 mounting pad
¢ Stainless ball & stem

FEATURES

6. Gland

7. Stem

8. Jam nut

9. Body seal

10. Body

OPTIONS AVAILABLE:

Actuator Ready ISO Mounting Pad

¢ Blow-out-proof stem design
¢ Adjustable packing gland
¢ Live loaded packing

STANDARD MATERIAL LIST

PTFE (1-1/4" to 3")

B584-C84400

(SUFFIX) OPTION SIZES
-14- Vented Ball 3/4"t0 3"
-24- Graphite Stem Packing 3/4"t0 2"
-27- Latch Lock Handle 3/4"t0 3"
-35- PTFE Seats 3/4"t0 3"
-57- Oxygen Cleaned 3/4" 0 3"

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

BRONZE STD. PORT BALL VALVE WITH ISO MOUNTING PAD

K

] (THRDS.) WT.
NUMBER | SIZE | A B C D E F G H I (FLATS) UNF

71-AR4-64| 3/4"| 68| 1.50 | 3.00 | 2.16 | .70 | 1.39 | .28 84 | 37 | .247/.249 3/8-24 1.38
71-AR5-64 1"| 87| 168 337|228 | .70 |1.39| .28 84 | 37 | .247/.249 3/8-24 1.76
71-AR6-64 | 1-1/4" | 1.00| 1.98 | 397 | 3.16 | .98 |1.95| .34 | 1.16 | .54 | .370/.372 5/8-18 3.51
71-AR7-64 | 1-1/2" | 125 2.18 | 437 | 3.16 | .98 |195| .34 | 1.16 | .58 | .370/.372 5/8-18 4.40
71-AR8-64 2" 150|234 | 468 | 337 | 98 |195| .34 | 116 | .55 | .370/.372 5/8-18 5.89
71-AR9-64 | 2-1/2" | 2.00| 3.12 | 625|385 | 98 |195| .34 | 116 | .54 | .370/.372 5/8-18 14.12
71-AR0-64 3"| 250|337 | 675|418 | 98 |195| .34 | 116 | .54 | .370/.372 5/8-18 18.55

1/00 COPYRIGHT ©1999 CONBRACO IND., INC. - PRINTED IN U.S.A.



Apolr.72-100 Series

Carbon Steel High Pressure Ball Valve

Threaded, 3000 psig WOG, Cold Non-Shock Body rating (see P/T Chart referenced below for seat rating).
150 psig Saturated Steam.

Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.

FEATURES

¢ Barstock design ¢ Adjustable packing gland

¢ RPTFE seats and stuffing box ring ¢ Full port, except 2"

¢ Fire safe design when ordered with ¢ Blow-out-proof stem design
graphite packing ¢ Heavy duty lever

¢ Nitride corrosion protection

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut A108-CS
2. Stem A108-CS chrome plated 8. Stem packing RPTFE
3. Stem bearing RPTFE 9. Lever nut Steel, zinc plated
4. Retainer seal RPTFE 10. Body A108-CS
5. Seat (2) RPTFE 11. Retainer Al08-CS
6. Ball A108-CS chrome plated 12. Seat holder A108-CS
VARIATIONS AVAILABLE: OPTIONS AVAILABLE:
-02- Static Grounded 1/2"t0 2"
-03- 1-1/4" Stem Extension 1"to 1-1/2"
g "‘—— E 04- 2-1/4" Stem Extension I'to 1-1/2"
2 -07- Tee Handle 1/2"to 1-1/2"
J -08- 90° Reversed Stem 1/2"to 2"
-10- SS Lever & Nut 1/2"to 1-1/2"
7 }D -14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2"to 1"
11 3 -19- Lock Plate 1/2"to0 2"
0 -21- UHMWPE Seats (Non-PTFE) 1/2"t0 2"
-24- Graphite Stem Packing 1/2"t0 2"
-45- Less Lever & Nut 1/2"to 2"
-56- Multifill Seats 1/2"t0 2"
-60- Static Grounded Ball & Stem 1/2"to 2"
A -+ —_—l -64- 250 Lb. Steam Trim 1/2"t0 2"
}
N /)
oo | "
B
C
CARBON STEEL HIGH PRESSURE BALL VALVE
NUMBER SIZE A B C D E Wit.
72-103-01 1/2" .62 1.46 2.87 2.50 5.62 1.98
72-104-01 3/4" .81 1.87 3.71 2.62 5.62 3.09 R
7910501 T 22 125 (32 em 187 For Pressure/Temperature Ratings,
72-106-01 1-1/4" | 125 | 232 | 465 | 343 | 8.00 7.67 Refer to Page N-16, Graph No. 15
72-107-01 1-1/2" 1.50 2.64 5.23 3.56 8.00 10.50
72-108-01 2" 1.75 3.00 5.84 4.18 9.00 15.26

A-6

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Carbon Steel SAE Straight Thread Ball Valve

Apollo.72-900 Series

Threaded, 3000 psig WOG, Cold Non-Shock Body Rating (see P/T Chart referenced below for seat rating).
150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.

FEATURES

¢ Barstock design
¢ RPTFE seats and stuffing box ring

¢ Fire safe design when ordered with

graphite packing
e Nitride corrosion protection

1. Lever and grip

2. Stem

¢ Adjustable packing gland
¢ Full port, except 2"

¢ Blow-out-proof stem design
¢ Heavy duty lever

e SAE]512/]514 Straight Thread O-Ring Boss

STANDARD MATERIAL LIST

Steel, zinc plated w/vinyl
A108-CS chrome plated

7. Gland nut A108-CS

8. Stem packing RPTFE

9. Lever nut Steel, zinc plated
10. Body A108-CS
11. Retainer A108-CS
12. Seat holder A108-CS

OPTIONS AVAILABLE:

3. Stem bearing RPTFE
4. Retainer seal RPTFE
5. Seat (2) RPTFE
6. Ball A108-CS chrome plated
72-940 Series (316 SS Ball & Stem)
b E
l
= RAj
7
11 3
D
i
A — 4 I &
4 N
L\d é é@ @ A
po——— B —]
C
CARBON STEEL SAE STRAIGHT THREAD
O-RING BOSS BALL VALVE
NOM.
NUMBER | TUBE SIZE A B C D E Wit.
O.D.
72-901-01 1/4" | 7/16"-20 39 |1.46 [2.84 |2.50 | 5.62 | 2.09
72-902-01 3/8" | 9/16"-18 51 |1.46 [2.84 |2.50 | 5.62 | 2.06
72-903-01 172" 3/4"-16 62 |1.46 [2.84 |2.50 | 5.62 | 2.56
72-904-01 3/4" | 1-1/16"-12 81 |11.87 [3.71 | 262 | 5.62 | 3.07
72-905-01 1" {1-5/16"-12 | 1.00 [2.12 |4.15 | 3.12 | 6.62 | 4.91
72-906-01 | 1-1/4" | 1-5/8"-12 1.25 [2.32 | 465 |3.43 | 8.00 | 7.73
72-907-01 | 1-1/2" | 1-7/8"-12 1.50 [2.64 | 523 |3.56 | 8.00 |10.21
72-908-01 2" | 2-1/2"-12 1.75 [3.00 | 5.84 |4.18 | 9.00 |14.88
1/00

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" to 2"
-03- 1-1/4" Stem Extension 1"to 1-1/2"
-04- 2-1/4" Stem Extension 1"to 1-1/2"
-07- Tee Handle 1/4" to 1-1/2"
-08- 90° Reversed Stem 1/4" to 2"
-10- SS Lever & Nut 1/4" to 1-1/2"
-14- Vented Ball (see page J-2) 1/4" to 2"
-15- Round Handle 1/4"to 1"
-19- Lock Plate 1/4" to 2"
21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
-24- Graphite Stem Packing 1/4"to 2"
-45- Less Lever & Nut 1/4" to 2"
-56- Multifill Seats 1/4" to 2"
-60- Static Grounded Ball & Stem 1/4" to 2"
-64- 250 Lb. Steam Trim 1/4" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-16, Graph No. 15




Apollo.73-100 Series

Carbon Steel Ball Valve

Threaded, 1/4" to 1" 2000 psig WOG, 1-1/4" to 2" 1500 psig WOG. Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.

FEATURES

¢ Barstock design ¢ Adjustable packing gland

e RPTFE seats and stuffing box ring ¢ Blow-out-proof stem design

¢ Fire safe design when ordered with ¢ Nitride corrosion protection
graphite packing

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut A108-CSs
2. Stem packing RPTFE 8. Stem A108-CS
3. Stem bearing RPTFE 9. Lever nut Steel, zinc plated
4. Ball A108-CS chrome plated 10. Body seal PTFE
5. Seat (2) RPTFE (1-1/4" to 2")
6. Retainer A108-CS 11. Body A108-CS
73-160 Series (NACE Trim) -02- Static Grounded 1/4" to 2"
-03- 1-1/4" Stem Extension 1/4" to 2"
-04- 2-1/4" Stem Extension 1/4" to 2"
e fes E -06- 2000 psig WOG 1-1/4" to 2"
I 07- Tee Handle 14" 10 1-1/2"
e -08- 90° Reversed Stem 1/4" to 2"
.»’ . -10- SS Lever & Nut 1/4" to 2"
~ -14- Vented Ball (see page ]-2) 1/4" to 2"
(2) i (7) -15- Round Handle 1/4"to 1-1/2"
f—, 7 -10- Lock Plate 14" to 2"
\\l li e -24- Graphite Stem Packing 1/4" to 2"
ﬁ\ ;‘ D 44- Seal Welded 14" to 2"
e -45- Less Lever & Nut 1/4" to 2"
/’ , - ‘
ol | > -56- Multifill Seats 1/4" to 2"
mmmml""' ," ’ -60- Static Grounded Ball & Stem 1/4" to 2"
” lmm"m -64- 250 Lb. Steam Trim 1/4" to 2"
A T — 1 -PO1- BSPP (Parallel) Thread Connection 1/4" to 2"
m,m"m ,’ -T01- BSPT (Tapered) Thread Connection 1/4" to 2"
| Hiiing  ~og
X @
o — B .
C -]
— SICZ?RBiN STEBEL BAIC;L VAII;VE _ " For Pressure/Temperature Ratings,
t. "
73-101-01 1/4" | 37 | 103 | 206 | 175 | 387 | .66 Refer to Page N-15, S;raph No. 13 (1/4
73-102-01 3/8" .37 1.03 2.06 1.75 3.87 .63 to 1 )
73-103-01 120 [ 50 [ 112 [ 225 [ 181 | 387 | 75 Refer to Page N-14, Graph No. 11
73-104-01 3/4" 68 | 150 | 3.00 | 212 | 487 | 1.58 (1-1/4" to 2")
73-105-01 1" .87 1.68 3.37 2.25 4.87 2.07
73-106-01 1-1/4" 1.00 2.00 4.00 2.62 5.50 3.74
73-107-01 1-1/2" 1.25 2.18 4.37 2.87 5.50 5.31
73-108-01 2" 1.50 2.75 5.50 3.06 8.00 8.03

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.



Apollo. 73A-100 Series

Carbon Steel Ball Valve

AAR Approved #E999032

Threaded, 2000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.

Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.

FEATURES

¢ RPTFE seats & packing

e Actuator mounting pads

¢ Forged construction
¢ Raised handle stops

1. Lever nut

¢ Blow-out-proof stem design
¢ Adjustable packing gland
¢ Nitride corrosion protection

e (-24) Fire safe to API 607 4th ed. class 600 burn

STANDARD MATERIAL LIST

Steel, zinc plated

2. Gland nut A108-CS

3. Stem packing RPTFE

4. Retainer A108-CS

5. Body seal RPTFE (1/2" to 2")

VARIATIONS AVAILABLE: 73a-140- series

11 f

6. Ball A108-CS chrome plated
7. Seat (2) RPTFE
8. Body A105
9. Stem bearing RPTFE
10. Stem A108-CS
11. Lever/grip Steel, zinc plated,
with vinyl
(316 SS Ball & Stemn)
(NACE compliant)

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" to 2"
-03- 1-1/4" Stem Extension 1/4" to 2"
-04- 2-1/4" Stem Extension 1/4" to 2"
-07- Tee Handle 1/4" to 1-1/2"
-08- 90° Reversed Stem 1/4" to 2"
-10- SS Lever & Nut 1/4" to 2"
-14- Vented ball 1/4" to 2"
-15- Round Handle 1/4" to 1-1/2"
-24- Graphite Stem Packing 1/4" to 2"
-27- Latch Lock Lever 1/4" to 2"
-44- Seal welded 1/4" to 2"
-45- Less Lever & Nut 1/4" to 2"
-56- Multi-fill Seats 1/4" to 2"
-60- Static Grounded Ball & Stem 1/4" to 2"
-64- 250 Lb. Steam Trim 1/4" to 2"
-71- Actuator Mtg. Drilled & Tapped 1/4" to 2"
-PO1- BSPP (Parallel) Thread Conn. 1/4" to 2"
-T01- BSPT (Tapered) Thread Conn. 1/4" to 2"

4

D 4 ’ \ /—
“N I \\\..\\\\ .\ mmmnm _i

= =z 2
8_/ “\“ l - NN, umuuu j

I’IIAI'IIIII‘.\
N
. L 6
B——
C

CARBON STEEL BALL VALVE
NUMBER | SIZE | A& B C D E
73A-101-01 var | 37 102 | 253 [ 172 | 385
73A-10201 | 3/8" | 37 | 102 [ 253 | 172 | 385
73A-103-01 2| 50 [ 118 | 229 [ 178 | 385
73A-10401 | 34" | 88 | 157 | 307 | 207 | 475
73A-105-01 " | 87 [ 173 | 340 [ 218 | 475
73A-106-01 | 1-1/4" | 100 | 198 | 397 | 272 | 550
73A-107-01 | 1-1/2" | 125 | 214 | 432 [312 | 775
73A-108-01 | 150 | 273 | 544 [ 327 | 775

1/00

For Pressure/Temperature Ratings,
Refer to Page N-15, Graph No. 13

COPYRIGHT ©1999 CONBRACO IND., INC. - PRINTED IN U.S.A.



Apollo.76-100 Series

Stainless Steel Ball Valve

Threaded, 1/4" to 1" 2000 psig WOG, 1-1/4" to 2" 1500 psig WOG, 2-1/2" to 3" 1000 psig WOG
Cold Non-Shock. 150 psig Saturated Steam, Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 3.

FEATURES

¢ [nvestment cast components ¢ Adjustable packing gland

¢ RPTFE seats and stuffing box ring ® Meets NACE MR-01-75

¢ Mounting pad for easy actuator mounting ¢ SS lever and nut

¢ Blow-out-proof stem design e (-24) 1/4" to 2" Certified to API 607,

4th Edition, Class 600 burn

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 7. Gland nut A276-316
2. Stem packing RPTFE 8. Stem A276-316
3. Stem bearing RPTFE 9. Lever nut 18-8 55
4. Ball A276-316 10. Body seal PTFE
5. Seat (2) RPTFE (1-1/4" to 3")
6. Retainer A276-316 (1/4" to 1") 11. Body A351-CF8M
A351-CF8M (1-1/4" to 3") OPTIONS AVAILABLE
TAPPING :
1/4"-1" ... .. 10-24 NC (SUFFIX)  OPTION SIZES
1-1/4"-2"...1/4-20 NC -02- Static Grounded 1/4" to 3"
-03- 1-1/4" Stem Extension 1/4" to 3"
-04- 2-1/4" Stem Extension 1/4" to 3"
e G —o -07- Tee Handle 1/4"t0 2"
10 | -08- 90° Reversed Stem 1/4" to 3"
-14- Vented Ball (see page J-2) 1/4" to 2"
@\\ r T‘[ 15- Round Handle 14" 162"
i o -16- Vertical Chain Lever 3/4" to 2"
-19- Lock Plate 1/4" to 2"
A g ﬁ 21- UHMWPE Seats (Non-PTFE) 1/4" 0 3"
Q’V -24- Graphite Stem Packing 1/4" to 3"
‘ -27- Latch Lock Lever 1/4" to 3"
-30- CamLock Handle 1/4" to 2"
-32- SS Tee Handle & Nut 1/4" to 2"
-35- PTFE Trim 1/4" o 3"
-39- SS Latch Lock Wheel Handle 1/4" to0 2"
-40- Cyl-Loc 1/4" to 2"
-44- Seal Welded 1/4" to 2"
-45- Less Lever & Nut 1/4" to 3"
N P2 -46- Latch Lock Lever - Lock Close Only 1/4" to 3"
F_;Efﬁ 1/4-20 NC -47- SS Latch Lock Oval Handle 1/4"to 1"
| -48- SS Oval Handle 1/4" to 2"
Q}J \C, -49- Assembled Dry 1/4" to 3"
\ -50- 2-1/4" Locking Stem Extension 1/4" to 3"
K -N -57- Cleaned For Gaseous Oxygen 1/4" to 3"
-58- Horizontal Chain Lever 3/4" to 2"
Sizes 2-1/2" & 3" -60- Static Grounded Ball & Stem 1/4" to 3"
-64- 250 Lb. Steam Trim 1/4" to 3"
-P0O1- BSPP (Parallel) Thread Connection 1/4"to 3"
STAINLESS STEEL BALL VALVE -TO1- BSPT (Tapered) Thread Connection 1/4" to 3"
NUMBER | SIZE | A B C D E F G | Wt
76-101-01 1/4" | .37 |1.03 | 206 [1.75 | 387 | .50 | 1.12 | .58
76-102-01 3/8" | .37 | 103|206 [1.75 387 | .50 |1.12 | .54 .
7610301 | 1/2' | 50 | 112 | 2.25 | 1.8 | 387 | 50 | 112 | 63 For Pressure/Temperature Ratings,
76-104-01 | 3/4" | 68 | 150 | 3.00 [2.12 [4.87 | 87 [1.37 | 1.27 Refer to Page N-15, Graph No. 14 (1/4"
76-105-01 1"| .87 [168 | 337 |225 |4.87 | .87 |1.37 | 1.63 to 1")
76-106-01 | 1-1/4" |1.00 |2.00 | 4.00 |2.62 |5.50 | .93 | 1.50 | 3.06 Refer to Page N-14, G'l'C[ph No. 12
76-107-01 | 1-1/2" |1.25 |2.18 | 4.37 |3.05 [8.00 | .93 | 1.50 | 4.04 (1_1/4,, t 2,,)
76-108-01 2" [1.50 [2.75 | 5.50 |3.24 [8.00 | .93 | 1.50 | 6.05 o
76-109-01 | 2-1/2" [2.50 [3.37 | 6.75 [ 4.12 |[8.00 |2.75 | 337 | 1557 Refer to Page N-12, Graph No. 8
76-100-01 3" (250 [3.37 | 6.75 [4.12 [8.00 [2.75 [ 3.37 | 16.79 (2-1/2" to 3")
A-10 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00




Apollo. 76-ARX Series

Stcunless Steel Std. Port Ball Valve with
Actuator ReadXNISO Mounting Pad

Threaded, 1/4"-1" 2000 psig WOG, 1-1/4"-2" 1500 psig WOG, 2-1/2"-3"
1000 psig WOG, Cold Non-Shock. 250 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 3.

FEATURES

* Multi-piece packing set e Blow-out-proof stem design
¢ [SO 5211 mounting pad ¢ Adjustable packing gland
¢ Live loaded packing

STANDARD MATERIAL LIST

1. Stem packing MPTFE 6. Gland A276-316
2. Stem bearing RPTFE 7. Stem A276-316
3. Ball 316 SS 8. Jam nut SS
4. Seat (2) MPTFE 9. Body seal PTFE (1-1/4" to 3")
5. Retainer A276-316 (1/4" to 1") 10. Body A351-CF8M
A351-CF8M (1-1/4" to 3"
OPTIONS AVAILABLE:
(SUFFIX) OPTION SIZES
-14- Vented Ball 1/4" t0 3"
-24- Graphite Stem Packing 1/4" t0 3"

-27- Latch Lock Handle 1/4" to 2"
-35- PTFE Seats 1/4" t0 3"
-57- Oxygen Cleaned 1/4" t0 3"

For Pressure/Temperature Ratings,
Refer to Page N-15, Graph No. 14
(1/4"to 1")
Refer to Page N-14, Graph No. 12
(1-1/4" to 2")
Refer to Page N-12, Graph No. 8
c (2-1/2" to 3")
STAINLESS STEEL STD. PORT BALL VALVE WITH ISO MOUNTING PAD
K
J (THRDS) | WT.
NUMBER |SIZE| A | B [ C | D | E | F| ¢ | H | 1 | (FLATS | UNF
76-AR1-64 | 14| 837|103 [ 206|140 | 59 [1.17] 28 | 61 | 23 | 2477249 | 3/8-24 52
76-AR2-64 | 3/8'| 37 (103 [ 206|140 | 59 [1.17] 28 | 61 | 23 | 2477249 | 3824 48
76-AR3-64 | 1/2'| 50| 112 {2925 | 154 | 59 [117] 28 | 61 | 21 | 2477249 | 3/8-24 58

76-AR4-64 | 3/4"| .68 | 1.50 | 3.00 | 2.16 | .70 |[1.39 | .28 84 | 37 | .247/.249 3/8-24 1.26
76-AR5-64 1"| 87 | 168 | 337 | 228 | .70 | 1.39 | .28 84 | 37 | .247/.249 3/8-24 1.62
76-AR6-64 | 1-1/4"| 1.00 | 1.98 | 397 [ 3.16 | .98 [1.95| .34 | 1.16 | .54 | .370/.372 5/8-18 3.22
76-AR7-64 | 1-1/2"| 125 | 2.18 | 437 [ 3.16 | .98 [1.95| .34 | 116 | .58 | .370/.372 5/8-18 4.06
76-AR8-64 2"| 1.50 | 275 | 550 | 3.37 | .98 |195| .34 | 1.16 | .55 | .370/.372 5/8-18 6.18
76-AR9-64 | 2-1/2"| 2.00 | 3.12 | 625 [ 385 | .98 [1.95| .34 | 1.16 | .54 | .370/.372 5/8-18 12.96
76-AR0-64 3" 250|337 | 675|418 | 98 |195| .34 | 116 | .54 | .370/.372 5/8-18 17.06

]./OO COPYRIGHT ©1999 CONBRACO IND., INC. - PRINTED IN U.S.A. A— ]. ].



1. Lever and grip

2. Stem packing
3. Stem bearing

4. Ball
5. Seat (2)

6. Retainer

7. Gland nut

8. Stem

9. Lever nut

TAPPING
1/4"-3/4" .. .10-24 NC
1"8& 1-1/4"...1/4-20 NC

Apos.77-100 Series

Bronze Full Port Ball Valve

Threaded, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland
e Full port for full flow & min. pressure drop

¢ Chromium plated ball
® RPTFE seats and stuffing box ring
* Mounting pad for easy actuator mounting

STANDARD MATERIAL LIST

Steel, zinc plated w/vinyl
RPTFE
RPTFE
B16, chrome plated
RPTFE
Bl6(1/4"to 1")

10. Body seal
11. Body

PTFE (1-1/4" to 2-1/2")
B584-C84400

VARIATIONS AVAILABLE:

77-140 Series

(316 5SS Ball & Stem)

77-150 Series (Original Balancing Stop)

B584-C84400 (1-1/4" to 2-1/2")
Bl6
Bl6

77-190 Series (Locked Retainer)

OPTIONS AVAILABLE:

Steel, zinc plated

1/4" to 1-1/4"

Sizes

2-1/2"

[/ 1-1/2"8& 2" ...5/16-24 NF

1/4"-20 NC

BRONZE FULL PORT BALL VALVE

NUMBER | SIZE A B C D E F G | Wt
77-101-01 1/4" 43 | 1.12 | 225|181 [3.87 | .50 | 1.12 .79
77-102-01 3/8" 50 | 1.12 | 225 | 1.81 [3.87 | .50 | 1.12 .75
77-103-01 1/2" 50| 1.12 | 225 | 1.81 [3.87 | .50 | 1.12 .69
77-104-01 3/4" 81| 1.56 | 312|212 [487 | 87 |[1.37 | 1.83
77-105-01 1" | 1.00 | 1.81 | 3.62 |2.62 | 5.50 | .93 | 1.50 | 3.32
77-106-01 | 1-1/4" | 1.25 [ 2.12 | 425 | 2.87 | 5.50 | .93 | 1.50 | 5.05
77-107-01 | 1-1/2" | 1.50 | 2.37 | 4.75 | 3.34 | 8.00 [2.08 |3.06 | 6.71
77-108-01 2" 1200|265 | 537|371 |8.00 |24]1 [3.52 | 1175
77-109-01 | 2-1/2" | 2.50 | 325 | 6.50 | 4.12 | 8.00 [ 2.75 | 3.37 | 17.25

A-12

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" to 2-1/2"
-03- 1-1/4" Stem Extension 1/4" to 2-1/2"
-04- 2-1/4" Stem Extension 1/4" to 2-1/2"
-05- Plain Ball 1/4" to 2-1/2"
-07- Tee Handle 1/4" to 1-1/4"
-08- 90° Reversed Stem 1/4" to 2-1/2"
-10- SS Lever & Nut 1/4" to 2-1/2"
-14- Vented Ball (see page ]-2) 1/4" to 2-1/2"
-15- Round Handle 1/4" to 1-1/4"
-16- Vertical Chain Lever 3/4" to 2-1/2"
-17- Rough Chrome Plating 1/4" to 2-1/2"
-18- Plain Yellow Grip 1/4" to 2-1/2"
-20- Slot Vented Ball 1/4" to 2-1/2"
-24- Graphite Stem Packing 1/4" to 2-1/2"
-27- Latch Lock Lever 1/4" to 2-1/2"
-28- Mounting Pad Not Drilled 1/4" to 2-1/2"
& Tapped
-30- CamLock Handle 1/4" to 1-1/4"
-32- SS Tee Handle & Nut 1/4" to 1-1/4"
-35- PTFE Trim 1/4" to 2-1/2"
-36- SS High-Rise Round Handle & Nut 1/4" to 1-1/4"
-40- Cyl-Loc 1/4" to 1-1/4"
-45- Less Lever & Nut 1/4" to 2-1/2"
-46- Latch Lock Lever - Lock Close Only 1/4" to 2-1/2"
-47- SS Latch-Lock Oval Handle 1/4" to 3/4"
-48- SS Oval Handle 1/4" to 2"
-49- Assembled Dry 1/4" to 2-1/2"
-50- 2-1/4" Locking Stem Extension 1/4" to 2-1/2"
-56- Multifill Seats 1/4" to 2-1/2"
-57- Cleaned For Gaseous Oxygen 1/4" to 2-1/2"
-58- Horizontal Chain Lever 3/4" to 2-1/2"
-60- Static Grounded Ball & Stem 1/4" to 2-1/2"
-63- Threaded x Solder 1/4" to 2-1/2"
-64- 250 Lb. Steam Trim 1/4" to 2-1/2"
-P01- BSPP (Parallel) Thread Connection 1/4" to 2-1/2"
-TO1- BSPT (Tapered) Thread Connection 1/4" to 2-1/2"

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 77-ARX Series

Carbon Steel Full Port Ball Valve with
Actuator Read%VISO Mounting Pad

Threaded, 1/4"-1" 2000 psig WOG, 1-1/4"-2" 1500 psig WOG, 2-1/2"-3"
1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: I, Composition: CS, Style: 3.

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland
e Live loaded packing

® Multi-piece packing set
¢ [SO 5211 mounting pad
e Stainless ball & stem

STANDARD MATERIAL LIST

1. Stem packing MPTFE 6. Gland A276-316

2. Stem bearing RPTFE 7. Stem A276-316

3. Ball 316 SS 8. Jam nut SS

4. Seat (2) MPTFE 9. Body seal PTFE (1-1/4" to 3")
5. Retainer A108-CS (1/4" to 3" 10. Body A216-WCB

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES

-14- Vented Ball 1/4" t0 3"

-24- Graphite Stem Packing 1/4" t0 3"

-27- Latch Lock Handle 1/4"t0 2"

J -35- PTFE Seats 1/4" t0 3"

+ + K A‘ l‘ 7 -57- Oxygen Cleaned 1/4" to 3"

1
Hlll’

-a,s-\
A] ”M

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

CARBON STEEL STD. PORT BALL VALVE WITH ISO MOUNTING PAD

K

] (THRDS.) WT.
NUMBER | SIZE | A B C D E F G H I (FLATS) UNF

77-AR1-64 | 1/4"| 37| 103 | 2.06 | 1.40 | .59 | 1.17| .28 6l | .28 .247/.249 3/8-24 .60
77-AR2-64 | 3/8"| 37| 103 | 2.06 | 1.40 | .59 | 1.17| .28 Bl | .28 .247/.249 3/8-24 .57
77-AR3-64 | 1/2"| 50| 1.12 | 225 | 1.54 | .59 | 1.17| .28 61| 21 .247/.249 3/8-24 .62
77-AR4-64 | 3/4"| 68| 1.50 | 3.00 | 2.16 | .70 | 1.39| .28 84 | .37 .247/.249 3/8-24 1.76
77-AR5-64 1"| 87| 168 | 337 228 | .70 | 1.39| .28 84 | .37 .247/.249 3/8-24 3.44
77-AR7-64 | 1-1/2" | 125 | 2.18 | 437 | 3.16 | .98 | 1.95| .34 1.16 | .58 .370/.372 5/8-18 6.25
77-AR8-64 2"[ 150|275 [ 550|337 | 98 | 195| .34 1.16 | .55 .3701.372 5/8-18 11.72

]./OO COPYRIGHT ©1999 CONBRACO IND., INC. - PRINTED IN U.S.A.

A-13




Apolls.77-200 Series

Bronze Full Port Solder End Ball Valve

Solder End, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

e Chromium plated ball ¢ Blow-out-proof stem design
¢ RPTFE seats and stuffing box ring ¢ Adjustable packing gland
e Full port for full flow & min. pressure drop

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut

2. Stem packing RPTFE 8. Stem

3. Stem bearing RPTFE 9. Lever nut

4. Ball B16 chrome plated 10. Body seal

5. Seat (2) RPTFE (1-1/4" t0 2-1/2")
6. Retainer B16 (3/4"to 1") 11. Body

B584-C84400 (1-1/4" to 2-1/2")

Bl16

Bl16

Steel, zinc plated
PTFE

B584-C84400

VARIATIONS AVAILABLE: OPTIONS AVAILABLE:

77-240 Ser%es (316 SS Bodl & Stem) (SUFFIX)  OPTION SIZES

77-250 Series  (Balancing Stop) 02 Static Grounded 34" 10 2-172"

-03- 1-1/4" Stem Extension 3/4" to 2-1/2"

g et ] -04- 2-1/4" Stem Extension 3/4" to 2-1/2"

-05- Plain Ball 3/4" to 2-1/2"

8 J -07- Tee Handle 3/4" to 1-1/4"

-08- 90° Reversed Stem 3/4" to 2-1/2"

0 2 -10- SS Lever & Nut 3/4" to 2-1/2"

2 -14- Vented Ball (see page ]-2) 3/4" to 2-1/2"

3¢ 15 Round Handle 3/4" 0 1-1/4"

6 D -16- Vertical Chain Lever 3/4" t0 2-1/2"

-17- Rough Chrome Plating 3/4" to 2-1/2"

* 4 -20- Slot Vented Ball 3/4" to 2-1/2"
. -24- Graphite Stem Packing 3/4" to 2-1/2"

F A 4 ) -27- Latch Lock Lever 3/4" to 2-1/2"
-30- CamlLock Handle 3/4"to 1-1/4"

1 -32- SS Tee Handle & Nut 3/4" to 1-1/4"

| S -35- PTFE Trim 3/4" t0 2-1/2"
- G L‘ -40- Cyl-Loc 3/4" to 1-1/4"

-45- Less Lever & Nut 3/4" to 2-1/2"

@5 E“) -46- Latch Lock Lever - Lock Close Only 3/4" to 2-1/2"

-47- SS Latch-Lock Oval Handle 3/4" ONLY

B -48- SS Oval Handle 3/4" to 2-1/2"

C -49- Assembled Dry 3/4" to 2-1/2"

-50- 2-1/4" Locking Stem Extension 3/4" to 2-1/2"

The 77-200 is designed to be soft soldered -56- Multifill Seats 3/4" 0 2-1/2"
into lines without disassembly. This allows -97- Cleaned For Gaseous Oxygen 3/4" to 2-1/2"

a tested valve to be installed without -98- Horizontal Chain Lever 3/4" to 2-1/2"
disturbing the seats and seals in any way. -60- Static Grounded Ball & Stem 3/4" to 2-1/2"
Soldering temperature not to exceed 500°F. -63- Threaded x Solder 3/4" to 2-1/2"

BRONZE FULL PORT SOLDER END BALL VALVE
NUMBER | SIZE | A B C D E F G | Wt
77-204-01 3/4" | 81| 212 | 412|212 | 487 | 878 .75 | 165
77-205-01 1" [ 1.00 | 233 | 464 | 262 | 550 |1.129| .90 | 2.99

77-206-01 | 1-1/4" | 1.25 | 2.60 | 5.15 | 2.87 | 5.50 [ 1.378| .96 | 4.55
77-207-01 | 1-1/2" | 1.50 | 3.00 | 6.00 | 3.34 | 8.00 | 1.629| 1.09 | 6.04
77-208-01 2" 1200 | 362|724 |371| 800|2.129| 1.34 | 10.58

For Pressure/Temperature Ratings,
Refer to Page N-10, Graph No. 4

77-209-01 | 2-1/2" | 2.50 | 3.93 | 7.87 | 4.12/| 8.00 [ 2.630| 1.48 | 15.53

A.- ]. 4 COPYRIGHT ©1997 CONBRACO IND., INC. — PRINTED IN U.S.A.

1/00



Bronze

AFpo% 77-900 Series

ull Port SAE Straight Thread Ball Valve

Straight Threads, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 3.

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland

e Chromium plated ball
¢ RPTFE seats and stuffing box ring

® Mounting pad for easy actuator mounting e Full port for full flow & min. pressure drop

e Straight thread w/O-Ring boss connection e SAEJ512/]514 Straight Thread O-Ring Boss

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 7. Gland nut B16
2. Stem packing RPTFE 8. Stem B16
3. Stem bearing RPTFE 9. Lever nut Steel, zinc plated
4. Ball Brass, chrome plated 10. Body seal PTFE (1-1/4" to 2")
5. Seat (2) RPTFE 11. Body B584-C84400
6. Retainer Bl16(1/4"to 1")

B584-C84400 (1-1/4" to 2")

TAPPING SIZES OPTIONS AVAILABLE:
1/4"-3/4"...10-24 NC 1/4" to 1-1/4" (SUFFIX)  OPTION SIZES
1"81-1/4"...1/4-20 NC - 0 0

G -02- Static Grounded 1/4"t0 2
S -03- 1-1/4" Stem Extension 1/4" t0 2"
8 T 04- 2-1/4" Sterm Extension 14" to 2"
-07- Tee Handle 1/4"t0 2"
9 @ z —L - -08- 90° Reversed Stem 1/4" t0 2"
©\ | D -10- SS Lever & Nut 14" to 2"
-15- Round Handle 1/4"t0 2"
| 1 + —t- -17- Rough Chrome Plating 1/4" to 2"
-24- Graphite Stem Packing 1/4" to 2"
A + 27- Latch Lock Lever 1/4" to 2"
-30- CamlLock Handle 1/4"t0 2"
LSS 32 SS Tee Handle & Nut 14" to 2"
U il 1] -35- PTFE Trim 1/4"t0 2"
5 4) @3 -46- Latch Lock Lever - Lock Close Only 1/4" to 3"
B -48- SS Oval Handle 1/4" 10 2"
C -50- 2-1/4" Locking Stem Extension 1/4" to 2"
G
M  s1zEs
EI[/ 1-1/2" to 2"
N MmN
1-1/2"82"...5/16-24 NF
BRONZE FULL PORT SAE O-RING BOSS BALL VALVE
NOM.
NUMBER 'ISJBE SIZE A B C D E F G Wit.
.D.
77-901-01 1/4" 7/16"-20 43 1.12 | 225 | 1.8]1 | 387 | .50 | 1.12 .79
77-902-01 3/8" 9/16"-18 .50 1.12 | 225 | 1.8]1 | 387 | .50 | 1.12 75
77-903-01 1/2" 3/4"-16 .50 1.12 | 225 | 1.8]1 | 387 | .50 | 1.12 .69
77-904-01 3/4" | 1-1/16"-12 81 1.56 | 3.12 | 2.12 | 487 | .87 | 1.37 1.83
77-905-01 1" 1-5/16"-12 1.00 1.81 | 362 | 262 | 5.50 | .93 | 1.50 3.32
77-906-01 1-1/4 1-5/8"-12 1.25 2.12 | 425 | 2.87 | 5.50 | .93 | 1.50 5.05 FOl’ Pressure/TemperCtture Ratings,
77-907-01 1-1/2" | 1-7/8"-12 1.50 237 | 475 | 3.34 | 8.00 |2.09| 3.06 6.71 R f P N 10 G' h N 4
77.908-01 | 2" |2-1/2-12 | 200 | 265 | 537 | 371 | 800 |241| 352 | 11.75 eter to Page N-10, Graph No.

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

A-15




Apob.89-100 Series

Carbon Steel Ball Valve

NPT Threaded, 1/4" to 1" 2000 psig WOG, 1-1/4" to 2" 1500 psig WOG, 2-1/2" to 3" 1000 psig WOG
Cold Non-Shock. 150 psig Saturated Steam. Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.
Complies with MSS SP-110

¢ [nvestment cast components
¢ RPTFE seats and stuffing box ring
® Mounting pad for easy actuator mounting

FEATURES

¢ Blow-out-proof stem design
¢ Adjustable packing gland

¢ Nitride corrosion protection
e (-24) Certified to API 607, 4th, Edition, Class 600 burn

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl
2. Stem packing RPTFE
3. Stem bearing RPTFE
4. Ball A108-CS chrome plated
5. Seat (2) RPTFE
6. Retainer Al0BCS(1/4"to 1"
A216-WCB (1-1/4" to 3")
7. Gland nut A108-CS
8. Stem A108-CS
TAPPING
1/4"=1" .. ... 10—-24 NC

1-1/4"-2" ...1/4-20 NC

— B —e

C

%y 4-20 NC

e ] 2-1/2" & 3" Sizes
CARBON STEEL BALL VALVE
NUMBER | SIZE A B C D E F G Wit.
89-101-01 1/4" .37 | 1.03 | 2.06 | 1.75 | 3.87 50| 112 .58
89-102-01 3/8" .37 | 1.03 | 2.06 | 1.75 | 3.87 50| 112 .54
89-103-01 12" 50| 112 ] 2.25 | 1.81 | 3.87 50| 112 .63
89-104-01 3/4" .68 | 1.50 | 3.00 | 2.12 | 4.87 .87 | 1.37 1.27
89-105-01 " .87 | 1.68 | 8.37 | 2.25 | 4.87 .87 1 1.37 1.63
89-106-01 | 1-1/4" | 1.00 | 2.00 | 4.00 |2.62 | 5.50 93| 1.50 | 3.06
89-107-01 | 1-1/2" | 1.25|2.18 | 4.37 | 3.05 | 8.00 93| 1.50 | 3.98
89-108-01 2" 1 1.50 | 2.75 | 5.50 | 3.24 | 8.00 .93 | 1.50 5.99
89-109-01 | 2-1/2" | 2.50 | 3.37 | 6.75 |4.05 | 8.00 | 2.75 | 3.37 | 15.57
89-100-01 3" ] 2.50 (337 | 6.75 | 412 | 8.00 | 2.75 | 3.37 | 16.79

A-16

9. Lever nut
10. Body seal
11. Body

Steel, zinc plated
PTFE (1-1/4" to 3")
A216-WCB

VARIATIONS AVAILABLE:

89-140 Series (316 SS Ball & Stem)
89-190 Series (Locked Retainer)

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4"t0 3"
-03- 1-1/4" Stem Extension 1/4" t0 3"
-04- 2-1/4" Stem Extension 1/4"t0 3"
-07- Tee Handle 1/4" t0 2"
-08- 90° Reversed Stem 1/4"t0 3"
-10- SS Lever & Nut 1/4"t0 3"
-14- Vented Ball (see page ]-2) 1/4"t0 3"
-15- Round Handle 1/4" t0 2"
-16- Vertical Chain Lever 3/4" to 2"
-18- Plain Yellow Grip 1/4"t0 3"
-19- Lock Plate 1/4" t0 2"
-24- Graphite Stem Packing 1/4" t0 3"
-27- Latch Lock Lever 1/4"t0 3"
-30- CamLock Handle 1/4" t0 2"
-32- SS Tee Handle & Nut 1/4" t0 2"
-35- PTFE Trim 1/4" to 3"
-39- SS Latch Lock Wheel Handle 1/4" t0 2"
-40- Cyl-Loc 1/4" t0 2"
-44- Seal Welded 1/4" t0 2"
-45- Less Lever & Nut 1/4"t0 3"
-46- Latch Lock Lever - Lock Close Only 1/4"t0 3"
-47- SS Latch-Lock Oval Handle 1/4"to 1"
-48- SS Oval Handle 1/4" t0 2"
-50- 2-1/4" Locking Stem Extension 1/4"t0 3"
-56- Multifill Seats 1/4" to 3"
-58- Horizontal Chain Lever 3/4" to 2"
-60- Static Grounded Ball & Stem 1/4"t0 3"
-64- 250 Lb. Steam Trim 1/4"t0 3"
-P01- BSPP (Parallel) Thread Connection 1/4"t0 3"
-T01- BSPT (Tapered) Thread Connection 1/4"t0 3"

to 1)

(1-1/4" to 2")

For Pressure/Temperature Ratings,
Refer to Page N-15, Graph No. 13 (1/4"

Refer to Page N-14, Graph No. 11

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 89-ARX Series

Carbon Steel Std. Port Ball Valve with
Actuator Ready ISO Mounting Pad

Threaded, 1/4"-1" 2000 psig WOG, 1-1/4"-2" 1500 psig WOG, 2-1/2"-3"
1000 psig WOG, Cold Non-Shock. 250 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 3.

FEATURES

® Multi-piece packing set ¢ Blow-out-proof stem design

¢ [SO 5211 mounting pad ¢ Adjustable packing gland

e Stainless ball & stem ¢ Live loaded packing

STANDARD MATERIAL LIST

1. Stem packing MPTFE 6. Gland A276-316
2. Stem bearing RPTFE 7. Stem A276-316
3. Ball 316 5SS 8. Jam nut SS
4. Seat (2) MPTFE 9. Body seal PTFE (1-1/4" to 3")
5. Retainer A108-CS (1/4" to 3" 10. Body A216-WCB

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES

-14- Vented Ball 1/4" to 3"

-24- Graphite Stem Packing 1/4" to 3"

-27- Latch Lock Handle 1/4"t0 2"

J -35- PTFE Seats 1/4" to 3"

* + K A-l r 7 -57- Oxygen Cleaned 1/4" to 3"

For Pressure/Temperature Ratings,
Refer to Page N-15, Graph No. 14
(1/4"to 1")

Refer to Page N-14, Graph No. 12
(1-1/4" to 2")

o—" 4 —/ __I \3 Refer to Page N-12, Graph No. 8
(2-1/2" to 3")

\B
I i

&

I ”IH
N

|
Hllﬂ

YR

DT

CARBON STEEL STD. PORT BALL VALVE WITH I[SO MOUNTING PAD
K

] (THRDS.) | WT.
NUMBER | SIZE | A B C D E F G H I (FLATS) UNF

89-AR1-64| 1/4"| 37 | 103 | 206 | 140 | .59 |1.17 | .28 Bl | .23 | .247/.249 3/8-24 .02
89-AR2-64| 3/8"| .37 | 103 | 206 | 140 | .59 |1.17 | .28 61 | 23 | .247/.249 3/8-24 49
89-AR3-64| 1/2"| .50 | 1.12 | 225 | 1.54 | .59 |1.17 | .28 61 | 21 .247/.249 3/8-24 .58

89-AR4-64| 3/4"| 68| 150 | 3.00 216 | .70 [ 1.39| .28 84 | 37 | .247/.249 3/8-24 1.26
89-AR5-64 1"| 87 [ 168|337 228 | .70 [1.39| .28 .84 | 37 | .247/.249 3/8-24 1.62
89-AR6-64| 1-1/4" | 1.00 | 1.98 | 397 [ 3.16 | 98 [1.95| .34 | 116 | .54 | .370/.372 5/8-18 322
89-AR7-64| 1-1/2" | 125 | 2.18 | 437 [ 3.16 | .98 [1.95| .34 | 116 | .58 | .370/.372 5/8-18 4.06
89-AR8-64 2" 150 | 275 | 550 [ 337 | .98 [1.95| .34 | 116 | .55 | .370/.372 5/8-18 6.18
89-AR9-64| 2-1/2" | 2.00 | 3.12 | 625 [ 385 | .98 [1.95| .34 | 116 | .54 | .370/.372 5/8-18 | 13.06
89-AR0-64 3"] 250 [ 337 | 675418 | .98 [1.95] .34 | 116 | .54 | .370/.372 5/8-18 | 17.06

]./OO COPYRIGHT ©1999 CONBRACO IND., INC. - PRINTED IN U.S.A. A- ]_ 7



¢ [nvestment cast components
¢ RPTFE seats and stuffing box ring
® Mounting pad for easy actuator mounting

1. Lever and grip
2. Stem packing
3. Stem bearing

4. Ball
5. Seat (2)

6. Retainer

Apol.399-100 Series

Alloy-20 Ball Valve

Threaded, 1/4" to 1" 2000 psig WOG, 1-1/4" to 2" 1500 psig WOG. Cold Non-Shock.
150 psig Saturated Steam. Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 3.

FEATURES

e (-24) Certified to API standard 607,
4th Edition, Class 600 burn
¢ Blow-out-proof stem design

STANDARD MATERIAL LIST

304 SS wivinyl 7. Gland nut 316 SS
RPTFE 8. Stem

RPTFE 9. Lever nut 304 SS
B463-20CB-3 10. Body sedal

RPTFE 11. Body

B473-N08020 (1/4" to 1")
A351-CN7M (1-1/4" to 2")

/d 10 $0-24 NG OPTIONS AVAILABLE:

*-1 F b=/ 4-4/4"-2"= 1/4-20 NC

¢ Adjustable packing gland
® Meets NACE MR-01-75

B473-N08020

PTFE (1-1/4" to 2")
A351-CN7M

1

ALLOY-20 BALL VALVE

(SUFFIX) OPTION SIZES
E} -02- Static Grounded 1/4" to 2"
-03- 1-1/4" Stem Extension 1/4" to 2"
‘R -04- 2-1/4" Stem Extension 1/4" to 2"
ﬁ;\ / G -07- Tee Handle 1/4" to 2"
) -08- 90° Reversed Stem 1/4" to 2"
= -14- Vented Ball (see page ]-2) 1/4" to 2"
-15- Round Handle 1/4" to 2"
-16- Vertical Chain Lever 3/4" to 2"
-18- Plain Yellow Grip 1/4"t0 2"
-19- Lock Plate 1/4" to 2"
21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
-24- Graphite Stem Packing 1/4"to 2"
-27- Latch Lock Lever 1/4" to 2"
-28- Mounting Pad Not Drilled 1/4"t0 2"
& Tapped
D -30- CamLock Handle 1/4" to 2"
-32- SS Tee Handle & Nut 1/4" to 2"
-35- PTFE Trim 1/4" to 2"
-40- Cyl-Loc 1/4" to 2"
-45- Less Lever & Nut 1/4" to 2"
-46- Latch Lock Lever - Lock Close Only 1/4"t0 2"
-47- SS Latch-Lock Oval Handle 1/4"to 1"
-48- SS Oval Handle 1/4" to 2"
-49- Assembled Dry 1/4"to 2"
-50- 2-1/4" Locking Stem Extension 1/4" to 2"
-56- Multifill Seats 1/4" to 2"
-57- Cleaned For Gaseous Oxygen 1/4"t0 2"
-58- Horizontal Chain Lever 3/4" to 2"
-60- Static Grounded Ball & Stem 1/4" to 2"
-64- 250 Lb. Steam Trim 1/4" to 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" to 2"
-T01- BSPT (Tapered) Thread Connection 1/4"t0 2"

NUMBER | SIZE | A B C D E F G Wt.
399-101-01 | 1/4" | 37 | 1.03 | 2.06 | 1.75 | 3.87 | .50 | 1.12 | .58
399-102-01 | 3/8" | .37 | 1.03 | 2.06 | 1.75 | 3.87 | .50 | 1.12 | .54
399-103-01 | 172" | .50 | 1.12 | 225 | 1.81 | 3.87 | .50 | 1.12 | .63
399-104-01 | 3/4" | 68 | 1.50 | 3.00 | 2.12 | 487 | .87 | 1.37 | 1.27
399-105-01 | 1" 87 | 168 | 337 | 225|487 | .87 | 1.37 | 1.63
399-106-01 | 1-1/4" | 1.00 | 2.00 | 4.00 | 2.62 | 5.50 | .93 | 1.50 | 3.06
399-107-01 | 1-1/2" | 1.25 | 2.18 | 4.37 | 2.87 | 8.00 | .93 | 1.50 | 4.04
399-108-01 | 2" 1.50 | 2.34 | 468 | 3.06 | 800 | .93 | 1.50 | 6.05

A-18

For Pressure/Temperature Ratings,
Refer to Page N-18, Graph No. 20 (1/4"

to 1)

Refer to Page N-18, Graph No. 19

(1-1/4" to 2")

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



